kleinste Spannmodule C L A M P

fiir den Vorrichtungshau!

smallest vice modules for
dedicated fixtures!

le plus petit module de serrage
pour la construction de gabarits!




Warum / Why / Pourquoi microCLAMP

Hohe Spanndichte = microCLAMP
Kleinst-Spannmodaule fiir den Vorrichtungsbau.

Die Spannmodule haben auf der Vorderseite eine Niederzug-
backe, die Rickseite ist zu den Befestigungsbohrungen mass-
genau geschliffen. Damit kann diese Anschlagflache fur das
folgende Werkstick genutzt werden. Diese Anordnung lasst
eine sehr hohe Spanndichte zu. Beim kleinsten Micro Clamp-
Modul sind nur 15 mm Spannabstand erforderlich.

- Maximale Spannkraft der Module 2,1t (21'000N)

- Bendtigter Platz zwischen den Werkstlicken ab 15 mm

- Spannhub ab 1,5 mm

- Genaue Positionierung durch Passchrauben und Positionierstifte

High workholding density = microCLAMP

Extremely small clamping modules for fixture
construction.

These clamping modules have a pull-down jaw on the front,
while rear is precisely ground with reference to the fixing
holes. This means that it can be used as a datum face for the
following workpiece. This arrangement allows very high
clamping densities. Only 15 mm clamping clearance is needed
between workpieces using the smallest Micro Clamp module.

- Clamping force up to 2,1t (21°000N)

- Space between workpieces only 15 mm

- Stroke of jaw from 1,5 mm

- Precise positioning by ground sholder screws or dowel pins

Haute densité de serrage = microCLAMP

Module de serrage miniature pour la construction des
gabarits.

Ces modules de serrages sont munis d’un mors plaguant sur
la face avant, la face arriere fonctionne comme surface
d’'appui pour la piece suivante. Il est rectifié sur une face exac-
tement par rapport a |I'alésage. Donc il est possible de faire
des gabarits avec une tres haute densité de serrage. Les Micro
Clamp les plus petits permettent une distance d’une piece a
I'autre de 15 mm seulement.

- Force de serrage jusqu’a 2,1t (21'000N)
- Distance entre les piéces a usiner a partir de 15 mm
- Course du mors a partir de 1,5 mm

- Positionnement exacte par vis d'ajustage ou des chevilles



Spannkraft und Drehmoment / Inhaltsverzeichnis

Workholding force and torque / Index -
Force de serrage et couple de torsion/ Contenu micr OC LAM P

Spannkraft / workholding force / force de serrage Drehmoment / torque / couple de torsion
daN (Ib) t Nm (Ib/ft)
M5 + M6 500 1100 0,50 4 3
580 1300 5,58 5 3,7
690 1500 0,69 6 4,4
780 1700 0,78 7 5,2
880 1930 0,88 8 5,9
980 2150 0,98 9 6,6
1020 2240 1,02 10 7,4
M6 1220 2680 1,22 12 8,9
1450 3200 1,45 14 10,4
1520 3340 1,52 15 11,1
M8 410 900 0,41 4 3
490 1080 0,49 5 3,7
560 1200 0,56 6 4,4
660 1450 0,66 7 5,2
730 1600 0,73 8 5,9
810 1790 0,81 9 6,6
900 1980 0,90 10 7,4
1370 3020 1,37 15 11,1
1810 4000 1,81 20 14,8
2100 4600 2,10 25 18,4

Inhaltsverzeichnis / Index / Contenu




System
System / Systeme

Power Clamp

bei Anschlagmodulen

for end module / pour module d’‘appui

Compact Clamp

nitriergehartet

Micro Clamp

N nitrated
nitruré

D durchgehartet
through hardened
trempé

Vorrichtungsbaumodule
workholding modules for dedicated fixtures
module de serrage pour gabarits individuels

bei Spannmodulen

for vice modules / pour module de serrage

N —

Anzahl Spannbacken
number of jaws
nombre de mors

keine Spannbacke
no clamping jaw
sans mors de serrage

Modultyp
type of module / type de module

Anschlagmodul
end module
module d'appui

Anschlagflache der Module

datum face / surface d‘appui

Spannmodul
vice module
module de serrage

Anschlagflache glatt
datum face flat
face d'appui lisse

Tragermodul
supporting module
module support

Anschlagflache geriffelt
datum face double serrated
face d'appui striée en croix

Rundes Modul

round module
module ronde

eine Seite glatt, eine Seite geriffelt
one face flat, one face double serrated
une face lisse, une face striée en croix

Vertikalspannmodul
vertical clamp
module de serrage vertical

Anschlagflache gerillt
datum face serrated
face d'appui strié

spezielle Ausfihrung
special execution
exécution spéciale




Modulnutzbreite Modulnutztiefe oder -hohe

module clamping depth or height

module clamping width/largeur utile du module
ping J profondeur ou hauteur utile du module

1 9 mm
3(2) MS:
mm Tiefe
24 depth o
25 profondeur
26 B i
35 U hj
39
41

48 ® M ®

2(1) Vvs: J

£
— — Hohe =
80 height 9 Mo
85 hauteur hj hj
94
Backenhub Spannbackentyp
sroke of clamping jaw / cours du mors de serrage type of clamping jaw /type du mors de serrage
Niederzug
N pull down BO1 | siehe Seite 28
abaissant - see page 28

B99 voir page 28
linear parallel
I— linear parallel

linéaire parallele

-01 | Modul ohne Zubehor

- module without accessories
-99 module sans accéssoires

ohne Spannbacke
no clamping jaw
sans mors de serrage

X30 | Tragermodullange
X50 | Supporting module length
X60 longeur du module support




microCLAMP

Toolklick




MS1F 35N14 -01 microCLAMP

16 13,8 , 0/+1,5
o
S
L1
< ! | S
i T
25
™~ ®© (3\
T}
)
35
@5H7
@ 6x5
[Te}
W77
C /7 4
M5
max. 10 Nm

max. 1020 daN

Achtung: Bei Spannkréften Uber 400 daN (0,41) sollte das Spannmodul in eine Nut eingelassen werden (Nuttiefe mindestens 1mm)

Remark: Using forces higher than 400 daN, clamps must be mounted into a slot (depth min. Tmm)

Attention: Avec des forces de serrage en dessus de 400 daN, le module de serrage doit étre encastré dans une rainure de Tmm de
profondeur minimum

Bestellbeispiel / ordering example / exemple de commande: MS1F 35N14 BO1

MS1F 35N14 -01

(1) 1x MS1F 35N14 -01

@) 1x
(3) 2x MS 50
(&) 1x M5x141S0 4762 C
(5) 1x 5x10x1 DIN 125 A 4 4 4 4 HE | AR -
(6) 2x FED 02813 (i) HV700xHV700x ~ *  Messing (S u
0,2mm 0,2mm Brass D
kg 0,05 laiton (B

* = weich / soft / doux



MS1F 35N22 -01 microCLAMP

16 22 . 0/+1,5
10
: |
« | _‘ =
N 25 S
Lo -—
S 1© O
O[O
3%
@5H7
@6x5
Lo
~ T \/\
— | |
¢ A
M5

max. 10 Nm

max. 1020 daN

MS1F 35N22 -01

(1) 1x MS1F 35N22 -01

@) 1x
(3) 4x MS50
(a) 1x M5x141S0 4762 . ‘ ‘ :
(5) 1x 5x10x1 DIN 125 A 4 4 4 4 HE | AR @
(6) 2x FED 02813 (i) HV700xHV700x ~ *  Messing ® u
0,2mm 0,2mm Brass D
kg 0,08 laiton (®

* = weich / soft / doux



MS2X 35N23 -01 microCLAMP

16 0/+15 _,_ 23 _, _0/+15

14

[T]
|

|

25

5,3

115

12,4

35

@5H7

@6x5

12

~_max. 1020 daN

max. 1020 daN

Achtung: Bei Spannkréaften Uber 400 daN (0,4t) sollte das Spannmodul in eine Nut eingelassen werden (Nuttiefe mindestens 1mm)

Remark: Using forces higher than 400 daN, clamps must be mounted into a slot (depth min. Tmm)

Attention: Avec des forces de serrage en dessus de 400 daN, le module de serrage doit étre encastré dans une rainure de Tmm de
profondeur minimum

G Bestellbeispiel / ordering example / exemple de commande: MS2X 35N23 B0O1

MS2X 35N23 -01 ——B01 B02 B03 BO4
(1) 1x MS2X 35N23 -01 (© 16 16 16 16
@) 2x (H) 10 10 10 10
(3) 2x MS 50 L 8 8 11 8
(4) 2x M5x141S0 4762 (® 55 55 55 55 c
(5) 2x 5x10x1 DIN 125 A 4 4 4 4 HE | A @
(6) 4x FED 02813 (i) HV700xHV700x ~ *  Messing S u

0,2mm 0,2mm Brass D

kg 0,085 laiton (B)

* = weich / soft / doux



MS2F 60N14 -01 microCLAMP

16 16 138 0/+15

1,5

21

14

[T [T1
| |

8,5

25
60

@6x5 @5H7

12

M5

max. 10 Nm

max. 1020 daN

max. 1020 daN

Achtung: Bei Spannkréften Uber 400 daN (0,41) sollte das Spannmodul in eine Nut eingelassen werden (Nuttiefe mindestens 1mm)

Remark: Using forces higher than 400 daN, clamps must be mounted into a slot (depth min. Tmm)

Attention: Avec des forces de serrage en dessus de 400 daN, le module de serrage doit étre encastré dans une rainure de Tmm de
profondeur minimum

o G Bestellbeispiel / ordering example / exemple de commande: MS2F 60N14 BO1

MS2F 60N14 -01

(1) 1x MS2F 60N14 -01 (© 16 16 16 16
@ 2x (H) 10 10 10 10
(3) 3x MS50 L 8 8 11 8
(4) 2x M5x141S0 4762 (® 55 55 55 55 c
(5) 2x 5x10x1 DIN 125 A 4 4 4 4 HE | AR @
(6) 4x FED 02813 (i) HV700xHV700x ~ *  Messing e u
0,2mm 0,2mm Brass D
kg 0,09 laiton (B

* = weich / soft / doux

-
o



MS3F 85N14 -01 microCLAMP

5 16 16 16 13,8 0/+1,5
. m M m
~ \ \ \ ~
25 25 25
P ClOICPIRICS
LQ
25 25 ®
85
@6x5 @5H7
~ T T T T T T A
— [ [
M5
max. 10 Nm

max. 1020 daN

max. 1020 daN

max. 1020 daN

Achtung: Bei Spannkréften Uber 400 daN (0,41) sollte das Spannmodul in eine Nut eingelassen werden (Nuttiefe mindestens 1mm)

Remark: Using forces higher than 400 daN, clamps must be mounted into a slot (depth min. Tmm)

Attention: Avec des forces de serrage en dessus de 400 daN, le module de serrage doit étre encastré dans une rainure de Tmm de
profondeur minimum

o G Bestellbeispiel / ordering example / exemple de commande: MS3F 85N14 B01

MS3F 85N 14 -01

(1) 1x MS3F 85N14 -01 (© 16 16 16 16
@) 3x (H) 10 10 10 10
(3) 4x MS50 L 8 8 11 8
(a) 3x M5x141S0 4762 (® 55 55 55 55 c
(5) 3x 5x10x1 DIN 125 A 4 4 4 4 HE | A @
(6) 6x FED 02813 (i) HV700xHV700x ~ *  Messing e u
0,2mm 0,2mm Brass D
kg 0,125 laiton (B)

* = weich / soft / doux 1



MS1F 24N22 -07 microCLAMP

¥ 24
~
2 20 22 0/+2,1
Y
LN Par
o o M3 [ M3 HgR
o
RN EARE
0L U ili
30
o

10
RIC)
Q©

40
@5H7
o IF W
e 4 ©
M5
max. 10 Nm

max. 1020 daN

Achtung: Bei Spannkréften Uber 400 daN (0,4t) sollte das Spannmodul in eine Nut eingelassen werden (Nuttiefe mindestens 1mm)

Remark: Using forces higher than 400 daN, clamps must be mounted into a slot (depth min. Tmm)

Attention: Avec des forces de serrage en dessus de 400 daN, le module de serrage doit étre encastré dans une rainure de Tmm de
profondeur minimum

Bestellbeispiel / ordering example / exemple de commande: MS1F 24N22 B07

MS1F 24N22 -07

(1) 1x MS1F 24N22 -07 20 20
@) 1x 10 10
(3) 4x MS 50 95 95
(&) 1x M5x12 1SO 4762 (o 55 55 55 .
(5) 2x FED 03018 6 6 6 HE | A €
() HV700x HV700x ~ * e u
0,2mm 0.2mm D
kg 0,125 (B)

12 * = weich / soft / doux



MS1F 22N40 -07 microCLAMP

o
N
o 20 40 0/+2,1
<
= | A
- 0
; |
s | —
i T Q
\ \
| |
22 ©)

@

223%
D12H7

min. 1mm

15

AAAA{AA |
NN

max. 10 Nm

=
N
N

max. 1020 daN

MS1F 22N40 -07

(1) 1x MS1F 22N40 -07

@ 1x (H) 10 10 10
(3) 1x TWPAS 1240 D 95 95 95
(&) 1x M5x12 1SO 4762 (® 55 55 55 ¢
(5) 2x FED 03018 6 6 6 H | A& €
() HV700x HV700x ~ * © u
0,2mm 0,2mm D
kg 0,15 (B)

* = weich / soft / doux 13



MS1R/F 25N25 -13 microCLAMP

oN
o~ 25 25 0/+3,3
N
S 20 4
™ |
X
—
. o
2| 4 ‘ oo
8o A o™ ;t
UlL=/U uu
0 36
o
o N/
~ NS
chdl®
50
@6H7
[(o)
I I A
“ U 1
U o
M6
max. 15 Nm

max. 1520 daN

Achtung: Bei Spannkréften Uber 400 daN (0,4t) sollte das Spannmodul in eine Nut eingelassen werden (Nuttiefe mindestens 1mm)

Remark: Using forces higher than 400 daN, clamps must be mounted into a slot (depth min. Tmm)

Attention: Avec des forces de serrage en dessus de 400 daN, le module de serrage doit étre encastré dans une rainure de Tmm de
profondeur minimum

Bestellbeispiel / ordering example / exemple de commande: MS1F 25N25 B13

MS1F 25N25 -13

MS1R 25N25 -13

(1) 1x MSTR/F 25N25 -13 (9 20 20 20 20

@ 1x H) 16 16 16 16

(3) 4x MS60 (H 138 138 138 19

(&) 1x M6x16 I1SO 4762 (o 65 65 65 65 c

(5) 2x FED 03018 10 10 10 10 HE | A
() HV700xHV700x ~ * & e u

0,2mm 0,2mm D
kg 0,165

14 * = weich / soft / doux



MR1F 30N23 -07

microCLAMP

\10\

o
L
3 20
T
~ | o
T =
D 4HBx8
30
T\
= o
. - ™
©F §
max. 10 Nm

max. 1020 daN

> x X

x X

@@EWEE

=
Q

MR1F 30N23 -07

MR1F 30N23 -07

M5x16 1SO 4762
M5x12 1SO 4762
FED 03018

@ 4x14 DIN 6325

0,095

* = weich / soft / doux

(L 95
(D) 55
6

20
10
9,5
5,5
6
@ HV700xHV700x  *
0,2mm 0,2mm

Version 2

Version 1

@4H8

@30H8
29
@5%8F @
Te]
v ‘ A
SR ZNN B
|44 947l
M5

Iy -

@Z30H8

35,5

3-8

210

@4H8

11

Bestellbeispiel / ordering example / exemple de commande: MR1F 30N23 B07

C
H A
&1
D

15



MV1F 20L35 BV1 microCLAMP

20
7
a [
& M3 : M3 © o -
o 23 35
40
g ©
©) =~ ©—
© @ o~
i
30 i
@5H7
I I
o f ]
s 5

Bestellbeispiel / ordering example / exemple de commande: MV1F 20L35 BV1

MV1F 20L35 BV1

(1) 1x MVIF 20L35 -V1

) 1x BV

(3) 4x MS 50
(&) 1x M6x25 I1SO 4762
(5) 1x M8x201SO 4028

kg 0.225

16 * = weich / soft / doux



VS2F 90N30 -60 microCLAMP

38 0/+4,1

+4,6/-2,6

30

VS2F 90N30 -60 ﬁ"

(1) 1x VS2F 90N30 -60
@) 2x
(3) 2x M8x20 ISO 4762
(a) 4x FED 0618

(5) 2x TWPAS 1232

kg 0,85

max. 2100 daN

max. 2100 daN
Bestellbeispiel / ordering example / exemple de commande: VS2F 90N30 B60

(c] 35 EEEN 35 WESE 35 [SEEN 35 [ESEN 35 SR 35
(W) 20 20 20 20 20 20 20 20 20 20 20
L 19 24 19 19 19 19 19 24 26 22 25
© 9 9 9 9 9 9 9 9 9 9 9
12 12 12 12 12 12 12 12 12 12 12
(i) ALU* ALU* 56 HRc 56 HRe ~ * 56 HRc 56 HRc 56 HRc ~ * 56 HRc HV700x
0,2mm
B68 B79

B57, B58,

C B60, B61, ol @
B62 ;

B65, B66,
B67

* = weich / soft / doux 17



VS1R/F 80N30 -60 microCLAMP

45 0/+4,1
35 55

+4,6/-2,6
o)
s}

M6

30

22,5

10110

VS1F 80N30 -60

VS1R 80N30 -60

CS1R/F 80N30 -60

=
>

x

M8x20 ISO 4762
FED 0618
CCBO 0801
M8x35 ISO 4762
M5x8 ISO 7380
CCD 004
M5x12 1SO 7380

x X X

x X

@OEH@E@@®®®E)

NNN?NNN—\

=

0,74

=~
()

B57  B58 B60 B61 B62 B65 B66  B67 B68 B77 B79

35 35 35 35 35 35 35 35 35 35 35
20 20 20 20 20 20 20 20 20 20 20
19 24 19 19 19 19 19 24 26 22 25
9 9 9 9 9 9 9 9

12 12 12 12 12 12 12 12 12 12 12
ALU * ALU * 56 HRc 56 HRc  * 56 HRc 56 HRc 56 HRc  * 56 HRc HV700x
0,2mm

B68 B79

OEOEE

B57, B58,

C B60, B61, Ny %

B65, B66,
B67

18 * = weich / soft / doux



VS1R 80L30 -51

Linear

microCLAMP

+1,5/+4,0

30

N

S

oM5 M5O

22,5

10[10

max. 2100 daN
linear

xX X X

N = N O) = — —
xX X X X

NN
x X

@E QEPUWEWEE

<

@@
A)l\()l\)

=
Q
>

max. 25 Nm

VS1R 80L30 -51

CS1R 80L30 -51

Bestellbeispiel / ordering example / exemple de commande: VS1R 80L30 B51

M8x20 ISO 4762
FED 0618

CCBO 0801

B78

M5x8 I1SO 7380

CCD 004
M5x12 1SO 7380

CCD 422
M3x25 ISO 4762
M8x35 ISO 4762
0,74 (B55 =0,95)
* = weich / soft / doux

ClOCIGIOIG,

35 35
30 30
6 6

56 HRc 56 HRc

2 x M5

B51 B52
B53 B54

112

25

19



VS1R 8ON5O0 -36
VS1R/F 80N30 -36 VS1R 80N50 -36

microCLAMP

80

b
L 66 58 0,8/+4,6
N 5,5
¥
o ~N—o
- !
[ \M5 ‘ M5\l MB
He———®© o
l;lUMs M8 ?—*i | | U
@6nb
o
é 66 58 0/ 8/+4/ 8
3 5,5
o0 I 99| Yo
N M Mo I
o |
o ‘
J—tonms M5O o
UUMS M8 :t | | U
D b6nb
70
50 ©
o S
2 4 1@ OE
N2l e i ol =
o | N
O @ @O max. 25 Nm

max. 2100 daN

Bestellbeispiel / ordering example / exemple de commande: VS1R 80N30 B36

max. 2100 daN

VS1F 80N30 -36 836 B37
VS1R 80N30 -36 VS1R 80NS50 -36 B38
€
(1) 1x CSTR/F 8ON30 -36 (1) 1x CS1R 8ON50 -36 Ol ' B
B ix &) ix M 20 20 20
(3) 1x M8x20 ISO 4762 (3) 1x M8x20 ISO 4762 O, 199 199 199
(a) 4x FED 0618 (a) 4x FED 0618 ® ., T .
(5) 2x CCBO 0801 (5) 2x CCBO 0803 oo .
(6) 4x M8x35 ISO 4762 (6) 4x M8x55 ISO 4762 © 0 g o g H é‘u
(7) 2x M5x8 IS0 4762 (7) 2x M5x8 IS0 4762 AT -
(8 2x CCD 007 (3) 2x PCD 005 ¢ ig
2x M5x16 150 4762 2x M5x12 150 4762 ‘ *
M o 6
@) 1x M6x8 ISO 7380 @) 1x Méx8 IS0 7380 @ |
10 4xM6
kg 1,04 kg 1,685

N
o

* = weich / soft / doux




VS1R 80N50 -60

microCLAMP

VS1R 80N50 -60

=
>

CS1R 80N50 -60

xX X X

x X

>

@© QLOUEWEE

NN
x

=~
(G}

M8x20 ISO 4762
FED 0618

CCBO 0803
M8x55 ISO 4762
M5x8 ISO 7380

CCD 004
M5x12 1SO 7380

1,60

max. 2100 daN

o
~
3 66 55 0/+4,1
5 35 5,5
+
T ~ A
| ©OMB
|
(o= t
Lr) i
JItoms M50 o
l;JUMs M8 ©
70 o @616
50 ol
0 ‘ h
S OO0,
S 1@ @ &
i & O
- ©
|
80

max. 25

Nm

Bestellbeispiel / ordering example / exemple de commande: VS1R 80N50 B60

(c] 35 MEESEN 35 WESEEN 35 EESEEN 35 EEEOEN 35 G 35
(W) 20 20 20 20 20 20 20 20 20 20 20
L 19 24 19 19 19 19 19 24 26 22 25
® 9 9 9 9 9 9 9 9 9 9 9
12 12 12 12 12 12 12 12 12 12 12
(i) ALU* ALU* 56 HRc 56 HRc ~ * 56 HRc 56 HRc 56 HRc ~ * 56 HRc HV700x
0,2mm
B57, B58, N B68 B79
c B60, B61, b’ @
B62
g | e
D B65, B66,
B67
* = weich / soft / doux

21



VS1R/F 41N30 -60

microCLAMP

+4,6/-2,6
R

30

45

0/+4,1

8,5

—
ULMB

22,5

10[10
(]

VS1F 41N30 -60

VS1R 41N30 -60

CS1R/F 41N30 -60

=
>

x

M8x20 ISO 4762
FED 0618

CCBO 0802
M5x8 ISO 7380

N N NN —
x X X

=

CCD 004
M5x12 1SO 7380

N N
x X

@O @OE®EE)

(c] 35 EESEN 35 WESCEN 35 [ESEEN 35 [ESOEN 35 [ESEEN 35
(W 20 20 20 20 20 20 20 20 20 20 20
L 19 24 19 19 19 19 19 24 26 22 25
® 9 9 9 9 9 9 9 9 9 9 9
(&) 12 12 12 12 12 12 12 12 12 12 12
(i) ALU* ALU* 56 HRc 56 HRc ~ * 56 HRc 56 HRc 56 HRe ~ * 56 HRc HV700x
0,2mm
B57, B58, N B68 B79
C B60, B61, 6r " @&

B62

B65, B66,
B67

* = weich / soft / doux

22



VS1R/F 41L30 .51 Linear microCLAMP

35 45 . +1,5/+4,0

30

oml> | °|we] o
UUm muu 0

70
50

8,5

22,5

10[10
@
28

max. 2100 daN
linear

B55

VS1F 41L30 -51

VS1R 41L30 -51

@ 1x CSTR/F 41L30 -51
@) 1x
() 1x M8x20 IS0 4762
(a) 6x FED 0618

(5) 2x CCBO 0802

(6) 1x B78

(7) 2x M5x8150 7380

OO0

56 HRc 56 HRc  * * *

(9) 2x CCD 004

2x M5x12 ISO 7380 B51 B52
C L 2 x M5 B53 B54

@ 2x CCD 422 !
2x M3x25 IS0 4762 P T2

25

kg 0,545 (B55 = 0,95)
* = weich / soft / doux

23



VS1R 38N50 -60 microCLAMP

[(u]
ol 66
> 38 55 0/+4,1
< 35 12,5
§ -39 _
T —\
i ™ M6
|
S ‘
Jfoms wso] of @
QUMB Msul:l iof
70 - @66
50 i~
T
0 * ‘ N
#O LB,
S—{e © o 8
e T/
°Cl <~ e
|

VS1R 38N50 -60

CS1R 38N50 -60

= =
x X

ul
x

M8x20 ISO 4762
FED 0618

CCBO 0802
M5x8 ISO 7380

N
=

N
x

N
>

CCD 004
M5x12 ISO 7380

@ @@E®EE)

N
x

(c] 35 MEESEN 35 ESEEN 35 EESEEN 35 [EEOEN 35 G 35

(W) 20 20 20 20 20 20 20 20 20 20 20

L 19 24 19 19 19 19 19 24 26 22 25

® 9 9 9 9 9 9 9 9 9 9 9

12 12 12 12 12 12 12 12 12 12 12

(i) ALU* ALU* 56 HRc 56 HRc ~ * 56 HRc 56 HRc 56 HRe ~ * 56 HRc HV700x
0,2mm

B57, B58,
C B60, B61, 6
B62

B68 B79

B65, B66,
B67

2 * = weich / soft / doux



VS1R 26N35 -26 microCLAMP

(=]
o~ 66
3 26 45 0/+4,1
> 20 8,5
N
i o me
[Te) |
™ Il
o o mo] of

70 @6n6
50 'é;_
IRYOIREIC
5o o| &
oIl @GP
80

max. 25 Nm

Q@
® @

max. 2100 daN

Bestellbeispiel / ordering example / exemple de commande: VS1R 26N35 B26

VS1R 26N35 -26

() 1x CSIR 26N35 -26 (] 2 Il 2
& 1x " 20 20 20
(3) 5x M8x20 ISO 4762 (] 0 i °
® 9 9 9
(5) 2x CCBO 0802 561§R 561§R 2
(6) 2x MB5x8 ISO 7380 ©) . .
2x CCD 004
(3) 2x Ms5x12 ISO 7380 c 2
H AR>S d O
@
| [
() 4x FED 0418 D>
®
ke 055

= weich / soft / d
* = weich / so oux 25



VS1R 26L35 -31 Linear microCLAMP

20 45 . +1,5/+4,0

35

N

—

22,5

max. 2100 daN
linear

ﬁb‘) Bestellbeispiel / ordering example / exemple de commande: VS1R 26L35 B31

VS1R 26L35 -31

VS1R 26135 -31

x

—_

ul
x X

M8x20 ISO 4762
FED 0618

CCBO 0802

B30

M5x8 I1SO 7380

x

@ HV700x HV700x  *
0,2mm 0,2mm

x X

CCD 004
M5x12 1SO 7380 C -

FED 0418
CCD 422 I__] r—l "
M3x25 ISO 4762
0,55
* = weich / soft / doux

@E LEOWEWEE

_P—

<

NN D
X X

& RPEE

N
(=]



VS1R 19N35 -20

microCLAMP

45

8,5

(e}
N 66
3 19
= 16
§
i
L0 |
™ 1
JHews T wsd] o

max. 1500 daN

N N Ul = =
x x xX X X

@ @@ WEO

N
x

2X
1x

@®

70
50 O]
(e}
0 ?
| .
('\IO
12 @‘ =
Ol @
l
80
max. 15 Nm

VS1R 19N35 -20

CS1R 19N35 -20

15

M8x20 ISO 4762

CCBO 0802
M5x8 ISO 7380

CCD 004

M5x12 1SO 7380

FED 0418

M6x20 ISO 4762

0,505
* = weich / soft / doux

6,5
12

@ HV700x HV700x
0,2mm 0,2mm

B21

16
20
19
6,5
12

B22

16
20
19
6,5
12

*

Bestellbeispiel / ordering example / exemple de commande: VS1R 19N35 B20

27



Zubehor

accessories
accessoires

microCLAMP

durchgehartet / through hardened / trempé

nitriert / nitrated / nitruré

H B N H B N H B N
CcCcu 15080 15 79 2,2 |CCU 15026 15 26 2,2 MCU 11037 11 23 2
20080 20 79 2,2 20026 20 26 2,2 15037 15 23 2
25080 25 79 2,2 25026 25 26 2,2 18037 18 23 2
27580 27,5 79 2,2 30026 30 26 2,2 20037 20 23 2
30080 30 79 2,2 32526 325 26 2,2 22537 22,5 23 2
35080 35 79 2,2 |CCU 30039 30 38 2,2 CCuU 15082 15 79 B
40080 40 79 2,2 35039 35 38 2,2 20082 20 79 3
45080 45 79 2,2 40039 40 38 2,2 25082 25 79 B
Cccu 15081 15 41 2,2 45039 45 38 2,2 27582 27,5 79 3
20081 20 41 2,2 B N ccu 15083 15 41 B
25081 25 41 2,2 o 20083 20 41 3
27581 275 41 2.2 i i H 25083 25 41 3
1
30081 30 41 2,2 20 o 27583 27,5 4 3
34 MCU ccu 15027 15 26 3
B N N 20027 20 26 3
N N 25027 25 26 3
N N T
H— } JH 30027 30 26 3
66 - fL]—s‘—s—ﬂJ 32527 325 26 3
/8 T cau 79 ccu
Parallelunterlagen/ steel parallels / cales paralléles
SLO 4-20 Nm (1/4") CCHMR
sL1 8-54 Nm (3/s") HM 1 Bgs 2
carbide 7
carbure 8 5
CCPD N
o i
®
CCPDR 11
60 HRC
Nuss 1/4" 4 mm
5 mm CCPF M12 Alu )
6 mm
Nuss 3/8" 6 mm
8 mm
10 mm
CCBUE 12 18 12 026 - 13160 - 4 D G L B K S
026 - 13164 - 5 MS 50 5h6 M5 17 9 5 4
026 - 13168 - 6 MS 60 6h6 M6 17 9 6 5
026 - 13172 - 8 TW PAS 1240 12h6 M12 40 20 12 10
026 - 13176 -10 TW PAS 1232 12h6 M12 32 20 12 10
<€ -
B S
|
=N
1 ©)
D
FA 1240 FA 1260
60
L0 35
(=)
& =DER o )
L
0 ) B2 32 e ° ) 33 ©
M5 § \ B
Q [ o~
[ Vi I —

28




Zubehor
accessories

accessoires microCLAMP

DS 0402-90° DSE 0402-60° DSE 0402-90°
60 HRC 60 HRC

60 HRC

o ° ° |

1y @ | ¢ 1 o
775 775 N
87 8,7

3 x M6 fiir / for / pour CCHMR

CC 8011 CC 8021

CC 8025 CC 8026

©

CC 8030 30

FA UM 2070

FA 2070

FAD 2092

MG 1645

M6 1SO 4032
M6x35 1SO 4762
M5x14 1SO 4762
M3x8 ISO 10642

PDEOEWEE

Bestellbeispiel / ordering example / exemple de commande: FA UM 2070

29



CLAMP

micro

30



microCLAMP




powerCLAMP

Das schnellstverstellbare Mehrfach-
spannsystem! Die Positionierung er-
folgt mittels einer Verzahnung auf
der Schiene. Befestigung mit einer
Schraube!

compactCLAMP

Das flexible Mehrfachspannsystem!
Die Positionierung erfolgt mittels
Prazisionsbohrungen in Noniusan-
ordnung. Die Spannelemente werden
mit der Basis verstiftet und konnen
daher nicht verschieben.

microCLAMP

Kleinste Module fur den Vor-
richtungsbau. Sie haben eine grosse
Spannkraft (bis 21°000N), der be-
noétigte Abstand zwischen den
Werkstticken ist im optimalfall nur
15 mm.

tripoxyMINERAL

Spanntirme aus Mineralguss. Die
Vibrationsdampfung ist zehn mal
besser als bei Grauguss. Das spezifi-
sche Gewicht ist hingegen kleiner als
bei Aluminium. Erhaltlich in vielen
verschiedenen Formen.

mivaCLAMP

Vakuumspannsystem: Bestens geeig-
net fur plattenférmige Werkstlcke
(auch nicht magnetische). Es kénnen
sowohl Druckstellen als auch
Deformatinen an labilen Teilen ver-
mieden werden.

triGEL

Unser Gefrierspannsystem. Sehr gut
geeignet fur unformige Teile. Es
erlaubt mehrseitiges Bearbeiten ohne
Neuspannen. Das Haftvermogen ist
sehr gross, wobei die Gefrier- und
Auftauzeiten sehr gering sind.

oppSystem

Unser Nullpunkt-Palettiersystem er-
moglicht ein genaues Positionieren
von Mehrfachspannsystemen,
Schraubstécken und Vorrichtungen
auf Maschinentischen oder
Spanntdrmen.

S5axesCLAMP

Dieses modulare Spannsystem wurde
speziell fir 5-Achsen-Maschinen ent-
wickelt. Es ermdoglicht ein freies
zukommen der Maschinenspindel
zum Werkstlick. Sowohl kleine wie
grosse Werkstlckekdnnen damit pro-
blemlos gespannt werden.

The quickest multiple workholding
system for easy set up!

Positioning by means of ground
teeth on the base rail. Repositioning
by opening one single screw!

the flexible multiple workholding
system! Positioning by bores arranged
in vernier type layout. The work-
holding modules are pinned down to
the base and thus can’t move.

Smallest modules for dedicated
fixtures. Having a high clamping
force (up to 21°000N) the distance
between workpieces is only 15mm in
optimum set up.

Tombstones made of composite
concrete. Vibration damping effect is
ten times better than with cast iron.
Specific weight on the other hand is
less than aluminum. Available in
many different shapes.

Workholding by vacuum: Suited for
plateshaped workpieces (also for
non magnetical). Pressure marks as
well as deformations on soft parts
can be avoided.

Workholding by freezing: Well suited
for strandely shaped parts. It allows
processing from more than one side
without unclamping. Holding effects
are very strong whereas freezing and
defrosting times are very short.

Our zero-point palleting system
allowsexact positioning of multiple
workholding systems, vices and
dedicated fixtures on machining
tables or tombstones.

This modular workholding system
was especially developed for 5-axes
machines. It allows the machine
spindle to access freely to the
workpiece. Both small and large
workpieces can be clamped without
difficulties.

Le systéme de serrage multiple le plus
rapide a régler! Le positionnement
du module s'effectue grace a une
denture rectifiée sur le rail de base.
Le positionnement du module est
garanti par une seule vis.

Le systeme se serrage multiple le plus
flexible. Le positionnement s'effectue
avec des alésages de précision
disposés en ordre Nonius. Les modules
de serrage sont fixés sur la base avec
des goupilles et de ce faite ne peuvent
se déplacer.

Le plus petit module de serrage pour
la construction de gabarits. Les
modules de serrage Micro Clamp ont
une grande force de serrage (jusqu’a
21.000 N ) la distance nécessaire ent-
re les piéces a usiner est dans le cas
optimal de 15 mm.

Les tourelles de serrage en fonte
minérale. L'atténuation des vibrations
est dix fois supérieur a la fonte grise.
Le poids spécifique est plus petit que
I'aluminium. Elles sont livrables en
diverses formes.

La meilleure solution pour la fixation
de piéces plates (aussi non
magnétique) Pas de marques ou
blessures sur des matiéres tendres et
pas de déformation avec des piéces
instables.

Notre systéme de fixation par gel.
Recommandé pour des pieces diffor-
mes. Permet I'usinage sur plusieurs
cOtés sans nouvelle fixation. La force
de fixation est trés grande et le temps
de prise et de dégel est trés court.

Notre systéme de palettisation point
zéro garanti un positionnement précis
du systeme de serrage multiple, des
étaux, gabarits, constructions spéciales
sur la table de la machine ou sur la
tourelle de fixation.

Ce systeme de serrage modulaire a
été développé spécialement pour les
machines a 5 axes. Ce systeme
autorise un libre acces avec la broche
de la machine vers la piéce a usiner.
Ce systeme garanti le serrage de
petites et de grandes pieces a usiner.

TRIAG

Triag Prazisionswerkzeuge - Aussergriitstrasse 2 - CH-6319 Allenwinden - Tel. (d+e) +41 41 727 27 27
Tel. (f) +41 41 727 27 96 - Fax +41 41 727 27 99 - E-Mail: office@triag.ch - www.triag.com





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


